#### **RESOLUTION NO.**

#### A RESOLUTION OF THE CITY COUNCIL OF THE TOWN OF ADDISON, TEXAS APPROVING THE PURCHASE OF TWO (2) BMW MOTORCYCLES FOR THE TOWN OF ADDISON POLICE DEPARTMENT UTILIZING AN INTERLOCAL COOPERATIVE PURCHASING AGREEMENT WITH THE CITY OF FORT WORTH; AUTHORIZING THE CITY MANAGER TO EXECUTE THE PURCHASE ORDER; AND PROVIDING AN EFFECTIVE DATE.

**WHEREAS,** the City Council desires to authorize the purchase of two BMW motorcycles for the Town of Addison Police Department; and

WHEREAS, City staff utilized the current interlocal cooperative purchasing agreement between the Town of Addison and the City of Fort Worth to identify BMW Motorcycles of North Dallas the preferred vendor and obtain a price proposal for the purchase of the above-referenced vehicle(s), a true and correct copy of which is attached to this Resolution as <u>Exhibit "A"</u> (the "Quote").

# NOW, THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE TOWN OF ADDISON, TEXAS:

**SECTION 1**. The City Council hereby approves the purchase of the following vehicles from BMW Motorcycles of North Dallas in conformance with the Quote attached hereto as **Exhibit "A"**:

<b>Vehicle</b>	<u>Department</u>	<u>Qty</u>	<b>Price</b>	<u>Total</u>
BMW R12RTP	Addison Police Department	2	\$27,625.87	<u>\$55,251.74</u>

**SECTION 2.** The City Council hereby authorizes the City Manager to execute the purchase order(s) and such other documents as may be necessary to effectuate the foregoing purchase.

**<u>SECTION 3.</u>** This Resolution shall take effect from and after its date of adoption.

**DULY RESOLVED AND ADOPTED** by the City Council of the Town of Addison, Texas, on this the <u>11<sup>th</sup></u> day of <u>JANUARY</u> 2022.

#### TOWN OF ADDISON, TEXAS

Joe Chow, Mayor

ATTEST:

Irma Parker, City Secretary

# R 1250 RT-P Motor Pricing Form



	Color	Option Code		
0	Night Black & Alpine White III	753		BMW Motorrad
0	Night Black	716		
1	Alpine White III (special order)	751		
0	Black Blue (special order +60 days)	754		
0	Saphir Blue (special order + 60 days)	755		
0	Violet Blue (special order +60 days)	756		
0	Glacier Silver Metallic (special order)	N99		
	Quotation:			Motorcycle
	Addison PD	Option Code	Retail Price	\$21,250.00
	Factory Special-Order Options - Plan 90-120 Days	for Delivery		
0	Adaptive Headlight (includes 219)	134	\$550.00	\$0.00
0	Keyless Ride w/two transmitters	193	\$400.00	\$0.00
0	Gear Shift Assist Pro	222	\$450.00	\$0.00
0	Ride Modes Pro (includes 18B)	224	\$220.00	\$0.00
0	Chrome Exhaust	350	\$150.00	\$0.00
0	Additional LED Headlights (driving lights)	562	\$450.00	\$0.00
0	PA Microphone	599	\$565.00	\$0.00
0	High Seat Black	610	\$0.00	\$0.00
0	Low Seat Black	776	\$0.00	\$0.00
	The Options Below denote Standard Order Deck	- Removal is or	nly by Special Order - Option Delete	
1	Heated Seat	518	\$200.00	\$200.00
1	Tire Pressure Monitoring	530	\$200.00	\$200.00
1	Cruise Control (standard feature)	538	\$0.00	\$0.00
1	Weather Protection	649	\$185.00	\$185.00
	Additional Labor Operations Provided by Dealer			
1	FMSA-MT-SSE SIDE STAND EXTENSION			\$36.00
1	FMSA-EL-ACP ACC 1-3 CONNECTION PLUG			\$9.50
1	FMSA-EL-RPP RADIO CONNECTION PLUG CODE A			\$10.00
1	FMSA-EL-SCP SPEAKER CONNECTION PLUG			\$9.50
1	FMSA-EL-FFH FORNT FUSED POWER SCOCKET HARN	IESS		\$33.00
1	FMSA-MT-LGAP LIDAR GUN HOLSTER ADAPTER PLAT	E		\$26.95
1	FMSA-EA-USB FAIRING USB OULET			\$49.00
1	FMSA-EA-LSF FIARING MOUNT POWER SOCKET			\$45.00
1	FMSA-EL-RCP RADAR CONNECTION PLUG			\$9.50

				\$0.00
Units	Quotation valid for 60 days		Total Price - Page 1	\$22,063.45
1	from date noted below.		Total Price - Page 2	\$2,791.75
			Total Price - Page 3	\$528.44
	7/1/2020	Accessories Fro	m Other Suppliers - Page 4	\$0.00
			Dealer Basic Assembly / Preparation	\$1,747.23
			Motorcycle Freight	\$495.00
			Total Retail Price per Unit with Options	\$27,625.87
		0.00%	State Sales Tax (if applicable)	\$0.00
			Total Retail Price per Unit with Options	\$27,625.87

Note: Prices subject to change without notice. Final price is always determined by the selling authorized BMW Motorcycle dealer.

#### R 1250 RT-P Motor Pricing Form - Page 2 See Special Notation Comment

Quotation for:



	Addison PD				BMW Motorrad
	Blue ID Light Selection (1)				
1	Standard Blue Pod-Mounted ID Lights - SID	63 17 2 361 717		\$0.00	\$0.00
0	Round Blue License Plate ID Lights - RID	71 60 2 452 897		\$0.00	\$0.00
Per	Emergency Warning Lights (10)	BMW P/N	Order #	Retail	Total Retail
5	Red LED-X Light	63 17 2 361 718	5	\$108.36	\$541.82
5	Blue LED-X Light	63 17 2 361 719	5	\$108.36	\$541.82
0	Amber LED-X Light	63 17 2 361 720	0	\$108.36	\$0.00
0	White LED-X Light	63 17 2 361 721	0	\$117.09	\$0.00
0	Green LED-X Light	63 17 2 450 782	0	\$117.09	\$0.00
	Rear Duplex Emergency Warning Light (1)				
0	Duplex LED-X Red / Red	63 17 2 361 728	0	\$345.88	\$0.00
0	Duplex LED-X Blue / Blue	63 17 2 361 729	0	\$378.25	\$0.00
1	Duplex LED-X Red / Blue	63 17 2 361 730	1	\$362.07	\$362.07
0	Duplex LED-X Blue / Amber	63 17 2 361 731	0	\$362.07	\$0.00
0	Duplex LED-X Green / Green	63 17 2 450 783	0	\$362.07	\$0.00
0	Duplex LED-X Amber / Amber	63 17 2 450 784	0	\$362.07	\$0.00
	Take-Down (4) Alley (2) TS (2) BT (2) Saddlebag Li				
6	White Torus LED TDL/Alley	63 17 2 361 722	6	\$76.91	\$461.44
2	Auxiliary LED Turn Signals	63 17 2 361 725	2	\$72.82	\$145.65
2	Auxiliary LED Brake/Tail Light	63 17 2 361 726	2	\$56.64	\$113.27
1	Saddlebag LED Lights w/sensor switch	63 17 2 361 727	1	\$143.61	\$143.61
0	Red ID Lights (replacing blue ID lights)	63 17 2 361 724	0 0	\$107.33	\$0.00
0	Round Blue License Plate ID Light Kit	71 60 2 452 876	U	\$130.59	\$0.00
~	Dealer Installed Options / Retrofits		2	A 00	
0	Shift Assistant Pro (hardware)	23 41 8 536 884	0	\$677.22	\$0.00
0	Shift Assistant Pro - Enabling Code	77 15 8 395 839	0	\$40.54	\$0.00
0	Ride Modes Pro - Enabling Code	77 53 8 395 840	0	\$202.89	\$0.00
0	Also Requires DTC Enabling Code	77 53 8 395 841	0	\$52.71	\$0.00
0	LED Auxiliary Headlights Nano (order 2)	63 17 8 556 937	0	\$154.00	\$0.00
0	Bolt 6 x 40 (order 2)	63 12 7 699 141	0	\$5.35	\$0.00
0	M6 Hex Nut (order 2)	07 12 9 905 826	0	\$3.06	\$0.00
	Requires Activation by Dealer - No Code Needed				
	Convenience Options				
0	Extra Ignition Key - No Keyless Ride	51 25 8 540 950	0	\$91.60	\$0.00
1	Extra Ignition Key - Keyless Fob Transmitter	66 12 8 555 168	1	\$320.66	\$320.66
0	Heated Seat - Low	52 53 8 544 786	0	\$529.58	\$0.00
0	Heated Seat - High	52 53 8 544 792	0	\$529.58	\$0.00
0	Tire Pressure Gauge	82 12 0 140 377	0	\$32.12	\$0.00
1	BMW Motorrad Battery Charger (2.5 Ah)	77 02 2 470 951	1	\$161.41	\$161.41
0	DVD Repair Manuals R Models K5x	01 59 8 405 651	0	\$91.55	\$0.00
0	Motorcycle Full Cover	71 60 2 450 408	0	\$136.88	\$0.00
	Note: Prices subject to change without notice	e. Always verify accurac	v of part pric	ing before submitt	ing quotations.

Note: Prices subject to change without notice. Always verify accuracy of part pricing before submitting quotations. Final price is always determined by the selling authorized BMW Motorcycle dealer.

# R 1250 RT-P Motor Pricing Form - Page 3



#### **Additional Accessories**

Quotation for:

Addison PD

Per         Additional Accessories         BMW P/N         Order #         Retail         Total Retail           GPS Navigation         GPS Navigator VI GPS Kit Complete         77 52 8 504 069         0         \$759.20         \$0.00           Retro Fit for Instrument Cluster Nav VI*         46 63 8 553 830         0         \$326.71         \$0.00           * Parts Needed to Retrofit Nav to Std. Order Deck Unit         77 52 8 544 460         0         \$147.41         \$0.00           * Storage Options         Storage Options         71 60 7 704 109         0         \$123.46         \$0.00           0         Saddlebag Liners (each)         71 60 7 704 109         0         \$123.46         \$0.00           0         Tank Top Bag         77 148 406 187         1         \$225.18         \$0.00           0         Tank Cocker Cover Protection         77 148 406 187         1         \$225.18         \$0.00           1         Rocker Cover Protection Guard (order 1)         11 84 8 532 939         1         \$120.22         \$12.02           5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15.76           5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88	Qty	Item Description				Page 3	
0         BMW Navigator VI GPS Kit Complete         77 52 8 504 069         0         \$759.20         \$0.00           0         Retro Fit for Instrument Cluster Nav VI*         46 63 8 553 830         0         \$326.71         \$0.00           * Parts Needed to Retrofit Nav to Std. Order Deck Unit         77 52 8 544 460         0         \$147.41         \$0.00           0         Car Kit for Navigator VI         77 52 8 544 460         0         \$147.41         \$0.00           0         Saddlebag Liners (each)         71 60 7 704 109         0         \$123.46         \$0.00           0         Tank Top Bag         77 45 8 543 227         0         \$291.18         \$0.00           0         Tank Top Bag         77 148 406 187         1         \$225.18         \$0.00           0         Tank Top Bag         77 14 8 406 187         1         \$225.18         \$225.18           1         Rocker Cover Protection         77 14 8 406 187         1         \$225.18         \$120.22         \$120.22         \$120.22         \$120.22         \$120.22         \$120.22         \$120.22         \$120.22         \$15.76         \$15.76         \$15.76         \$15.76         \$15.76         \$15.76         \$15.76         \$15.76         \$12.88         \$12.88         \$12.88	Per	Additional Accessories	BMW P/N	Order #	Retail		Total Retail
0         Retro Fit for Instrument Cluster Nav VI*         46 63 8 553 830         0         \$326.71         \$0.00           * Parts Needed to Retrofit Nav to Std. Order Deck Unit           0         Car Kit for Navigator VI         77 52 8 544 460         0         \$147.41         \$0.00           Storage Options           0         Saddlebag Liners (each)         71 60 7 704 109         0         \$123.46         \$0.00           D           Saddlebag Liners (each)         71 60 7 704 109         0         \$123.46         \$0.00           D         Saddlebag Liners (each)         71 60 7 704 109         0         \$123.46         \$0.00           D         Saddlebag Liners (each)         71 60 7 704 109         0         \$123.46         \$0.00           D         Tank Top Bag         77 45 8 543 227         0         \$291.18         \$0.00           D         Tank Top Bag         77 14 8 406 187         1         \$225.18         \$225.18           1         Rocker Cover Protection         77 14 8 406 187         1         \$225.18         \$120.22           5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15		GPS Navigation					
* Parts Needed to Retrofit Nav to Std. Order Deck Unit       77 52 8 544 460       0       \$147.41       \$0.00         Storage Options       5       \$123.46       \$0.00         0       Saddlebag Liners (each)       71 60 7 704 109       0       \$123.46       \$0.00         0       Tank Top Bag       77 45 8 543 227       0       \$291.18       \$0.00         Engine Protection         1       Rocker Cover Protection Guard (order 1)       11 84 8 532 939       1       \$120.22       \$120.22         5       Fillister Head Screws M6 x 20 (order 5)       07 12 9 908 076       5       \$3.15       \$15.76         5       Grommet (order 5)       13 53 1 341 283       5       \$2.58       \$12.88         5       Bushing (order 5)       11 84 8 532 937       1       \$53.87         1       Bracket front (order 1)       11 84 8 532 937       1       \$53.87         1       Bracket Rear (order 1)       11 84 8 532 937       1       \$53.87	0	BMW Navigator VI GPS Kit Complete	77 52 8 504 069	0	\$759.20		\$0.00
0         Car Kit for Navigator VI         77 52 8 544 460         0         \$147.41         \$0.00           Storage Options           0         Saddlebag Liners (each)         71 60 7 704 109         0         \$123.46         \$0.00           0         Tank Top Bag         77 45 8 543 227         0         \$291.18         \$0.00           Engine Protection           1         Rocker Cover Protection Guard (order 1)         11 84 8 532 939         1         \$120.22         \$120.22           5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15.76           5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88           5         Bushing (order 5)         11 84 8 542 937         1         \$53.87         \$53.87           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34	0	Retro Fit for Instrument Cluster Nav VI*	46 63 8 553 830	0	\$326.71		\$0.00
Storage Options           0         Saddlebag Liners (each)         71 60 7 704 109         0         \$123.46         \$0.00           0         Tank Top Bag         77 45 8 543 227         0         \$291.18         \$0.00           Engine Protection         77 14 8 406 187         1         \$225.18         \$225.18           1         Rocker Cover Protection Guard (order 1)         11 84 8 532 939         1         \$120.22         \$120.22           5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15.76           5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88           5         Bushing (order 5)         11 84 8 544 832         5         \$5.06         \$25.29           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34		* Parts Needed to Retrofit Nav to Std. Order Deck Unit					
0         Saddlebag Liners (each)         71 60 7 704 109         0         \$123.46         \$0.00           0         Tank Top Bag         77 45 8 543 227         0         \$291.18         \$0.00           Engine Protection           1         Rocker Cover Protection Guard (order 1)         11 84 8 532 939         1         \$120.22         \$120.22           5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15.76           5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88           5         Bushing (order 5)         11 84 8 544 832         5         \$5.06         \$25.29           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34	0	Car Kit for Navigator VI	77 52 8 544 460	0	\$147.41		\$0.00
0         Tank Top Bag         77 45 8 543 227         0         \$291.18         \$0.00           Engine Protection         77 14 8 406 187         1         \$225.18         \$225.18           1         Rocker Cover Protection Guard (order 1)         11 84 8 532 939         1         \$120.22         \$120.22           5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15.76           5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88           5         Bushing (order 5)         11 84 8 544 832         5         \$5.06         \$25.29           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34		Storage Options					
Engine Protection         77 14 8 406 187         1         \$225.18           1         Rocker Cover Protection         77 14 8 406 187         1         \$225.18           1         Sump / Engine Protection Guard (order 1)         11 84 8 532 939         1         \$120.22           5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15.76           5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88           5         Bushing (order 5)         11 84 8 544 832         5         \$5.06         \$25.29           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34	0	Saddlebag Liners (each)	71 60 7 704 109	0	\$123.46		\$0.00
1         Rocker Cover Protection         77 14 8 406 187         1         \$225.18         \$225.18           1         Sump / Engine Protection Guard (order 1)         11 84 8 532 939         1         \$120.22         \$120.22           5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15.76           5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88           5         Bushing (order 5)         11 84 8 544 832         5         \$5.06         \$25.29           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34	0	Tank Top Bag	77 45 8 543 227	0	\$291.18		\$0.00
1         Sump / Engine Protection Guard (order 1)         11 84 8 532 939         1         \$120.22         \$120.22           5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15.76           5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88           5         Bushing (order 5)         11 84 8 544 832         5         \$5.06         \$25.29           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34		Engine Protection					
5         Fillister Head Screws M6 x 20 (order 5)         07 12 9 908 076         5         \$3.15         \$15.76           5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88           5         Bushing (order 5)         11 84 8 544 832         5         \$5.06         \$25.29           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34	1	Rocker Cover Protection	77 14 8 406 187	1	\$225.18		\$225.18
5         Grommet (order 5)         13 53 1 341 283         5         \$2.58         \$12.88           5         Bushing (order 5)         11 84 8 544 832         5         \$5.06         \$25.29           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34	1	Sump / Engine Protection Guard (order 1)	11 84 8 532 939	1	\$120.22		\$120.22
5         Bushing (order 5)         11 84 8 544 832         5         \$5.06         \$25.29           1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34	5	Fillister Head Screws M6 x 20 (order 5)	07 12 9 908 076	5	\$3.15		\$15.76
1         Bracket front (order 1)         11 84 8 532 937         1         \$53.87           1         Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34	5	Grommet (order 5)	13 53 1 341 283	5	\$2.58		\$12.88
Bracket Rear (order 1)         11 84 8 532 940         1         \$67.34         \$67.34	5	Bushing (order 5)	11 84 8 544 832	5	\$5.06		\$25.29
	1	Bracket front (order 1)	11 84 8 532 937	1	\$53.87		\$53.87
0 C-Clip Nut M6 (have been included w/brackets) 07 14 7 693 887 0 \$2.58 \$0.00	1	Bracket Rear (order 1)	11 84 8 532 940	1	\$67.34		\$67.34
	0	C-Clip Nut M6 (have been included w/brackets)	07 14 7 693 887	0	\$2.58		\$0.00
5 Fillister Head Screws M8 x 25 (order 5) 07 12 9 907 382 5 \$1.58 \$7.88	5	Fillister Head Screws M8 x 25 (order 5)	07 12 9 907 382	5	\$1.58		\$7.88

Note: Prices subject to change without notice. Always verify accuracy of part pricing before submitting quotations. Final price is always determined by the selling authorized BMW Motorcycle dealer.

Additional Accessories From Other Suppliers - Page 4

 Qty
 Description
 PN
 Price Each
 Total Price

		INVOICE		
FROM:				Invoice order #
BMW Motorcycles Of North Dallas				
900 Avenue	e K suite #1	00	•	
Plano, TX 7	5074 P) 97	2-881-0774 F) 972-881-1326		12/14/2021
TO:				
Town of Ac	ldison			
16801 Wes				
Addison, Tx				
Item	Quantity	Description	Unit Price	Ext. Unit Price
1	2	Purchase of two BMW motorcycles per		
		bid specs accepted by the ILA with Fort		
		Worth PD for the town of Addison PO#		
		BMW R12RTP vin#	627 62E 97	607 60E 97
		BMW R12RTP vin# BMW R12RTP vin#	\$27,625.87 \$27,625.87	\$27,625.87 \$27,625.87
			\$27,625.87	\$27,625.87
		SUB-TOTAL		\$55,251.74
		ТАХ		\$0.00
TAX #75-13	33-555	Tot	al Amount Owed	\$55,251.74